SEMESTER 2 NB All ECTS credits are half Newman credits

<u>Undergraduate</u> ** modules are subject to change**

Module	Occur	Module Name	Semester	Start	Newman Credits
SOCIAL SCI	ENCE				ECTS =1/2
SSU503	Α	PERSPECTIVES ON COMMUNITIES	2	FEB	20.0
ACCOUNTI	NG & FINANC	E			
AFU403	Α	INTRODUCTION TO FINANCE	2	FEB	10.0
AFU405	Α	BUSINESS ECONOMICS AND STATISTICS	2	FEB	20.0
AFU408	Α	CORPORATE AND BUSINESS LAW	2	FEB	20.0
AFU504	Α	MANAGEMENT ACCOUNTING AND DECISION MAKING	2	FEB	20.0
AFU506	Α	CORPORATE FINANCIAL MANAGEMENT	2	FEB	20.0
AFU603	Α	FINANCIAL ANALYSIS	2	FEB	20.0
AFU605	Α	ADVANCED MANAGEMENT ACCOUNTING	2	FEB	20.0
BUSINESS	& FINANCE				
BEU413	Α	FINANCIAL MANAGEMENT	2	FEB	20.0
BEU415	Α	BUSINESS ECONOMICS	2	FEB	20.0
BEU418	Α	CORPORATE AND BUSINESS LAW	2	FEB	20.0
BEU504	Α	MANAGEMENT ACCOUNTING AND DECISION MAKING	2	FEB	20.0
BEU513	Α	RESEARCH METHODS	2	FEB	20.0
BEU514	Α	INNOVATION AND ENTREPRENEURSHIP	2	FEB	20.0
BEU520	Α	APPLICATIONS OF RESEARCH	2	FEB	10.0
BEU614	Α	STRATEGIC MANAGEMENT	2	FEB	20.0
BEU616	Α	GLOBAL INNOVATION MANAGEMENT	2	FEB	20.0
BEU617	Α	CORPORATE SOCIAL RESPONSIBILITY AND SUSTAINABILITY	2	FEB	20.0
COUNSELLI	NG				
COU405	Α	AN INTRODUCTION TO ETHICS IN COUNSELLING	2	FEB	20.0
COU423	Α	PSYCHODYNAMIC COUNSELLING	2	FEB	20.0
COU503	Α	PHILOSOPHICAL AND CONCEPTUAL ISSUES IN COUNSELLING	2	FEB	20.0
COU607	Α	ADVANCED COUNSELLING SKILLS	2	FEB	20.0
COU611	Α	WORKING WITH ADDICTIONS	2	FEB	20.0
COU617	Α	ADVANCED CBT	2	FEB	20.0
DRAMA					
DRU402	Α	APPLIED DRAMA 2 - PRACTITIONER SKILLS	2	FEB	10.0
DRU404	Α	PRODUCTION PROJECT 1	2	FEB	40.0
DRU414	Α	POSTMODERN CHALLENGES	2	FEB	10.0
DRU522	Α	POSTMODERN DRAMA	2	FEB	10.0

CRIMINOLO	GY				
CRU405	Α	THE PSYCHOLOGY OF CRIME	2	FEB	20.0
CRU406	Α	UNDERSTANDING SOCIAL RESEARCH	2	FEB	20.0
CRU408	Α	POLICING AND SOCIAL CONTROL	2	FEB	20.0
CRU505	Α	CRIME AND SOCIETY	2	FEB	20.0
CRU511	Α	REHABILITATION AND DESISTANCE	2	FEB	20.0
CRU520	Α	RESEARCH PREPARATION	2	FEB	10.0
CRU605	Α	CRIME, PLACE AND SPACE	2	FEB	20.0
CRU609	Α	YOUNG PEOPLE AND CRIME	2	FEB	20.0
CRU611	Α	SEX, CRIME AND JUSTICE	2	FEB	20.0
EARLY CHIL	DHOOD, EDU	CATION & CARE			
ECU414	Α	PLAY MATTERS	2	FEB	20.0
ECU415	Α	FAMILY AND TRANSITIONS	2	FEB	20.0
ECU416	Α	THE EARLY CHILDHOOD CONTEXT	2	FEB	20.0
ECU514	Α	ENGAGING WITH RESEARCH	2	FEB	20.0
ECU515	Α	DEVELOPING EARLY LEARNING	2	FEB	20.0
ECU516	Α	HEALTH AND WELLBEING	2	FEB	20.0
ECU602	Α	CRITICAL REFLECTIONS IN EARLY CHILDHOOD EDUCATION AND CARE	2	FEB	20.0
ECU604	Α	INCLUSION AND DISABILITY	2	FEB	20.0
ECU606	Α	INTERNATIONAL CHILDCARE PRACTICES	2	FEB	20.0
ECU607	Α	SOCIAL POLICY: RHETORIC AND REALITY	2	FEB	20.0
EDUCATION	STUDIES				
ESU508	A	DIGITAL CHILDHOODS	2	FEB	20.0
ESU511	A	INTRODUCTION TO THE TEACHING PROFESSION	2	FEB	20.0
ESU606	A	EDUCATION, TECHNOLOGY AND CHANGE	2	FEB	20.0
ESU609	A	ACCESS AND INCLUSION	2	FEB	20.0
ESU612	A	INTERNATIONAL EDUCATION: GLOBAL DIVERSITY AND EDUCATIONAL INEQUALITY	2	FEB	20.0
ENGLISH					
ENU406	A	READING FILM	2	FEB	20.0
ENU416	A	CHALLENGING THE CANON	2	FEB	10.0
ENU418	Α	MAKING SENSE OF LANGUAGE	2	FEB	20.0
ENU508	Α	SHORT FICTION	2	FEB	20.0
ENU515	A	POETRY TO PROSE	2	FEB	20.0
ENU523	Α	THE PERILS OF READING AND WRITING	2	FEB	10.0
ENU527	A	LANGUAGE, SOCIETY AND POWER	2	FEB	20.0
ENU610	Α	FROM SUPERHEROES AND SYLVIA PLATH	2	FEB	20.0

ENU613	A	PROFESSIONAL PORTFOLIO 2	2	FEB	20.0
ENU614	Α	POSTCOLONIAL BRITISH LITERATURE	2	FEB	20.0
ENU617	Α	LANGUAGE, MEDIA AND THE INTERNET	2	FEB	20.0
HEALTH & S	OCIAL CARE				
HEU414	Α	INTRODUCTION TO RESEARCH AND EVIDENCE-BASED PRACTICE	2	FEB	20.0
HEU415	Α	SOCIOLOGY OF HEALTH	2	FEB	20.0
HEU416	Α	ANATOMY, PHYSIOLOGY AND DISEASE	2	FEB	20.0
HEU507	Α	APPLIED HEALTH PSYCHOLOGY	2	FEB	20.0
HEU606	Α	GLOBAL DIMENSIONS OF HEALTH AND SOCIAL CARE	2	FEB	20.0
HISTORY					
HSU417	Α	WHO DO YOU THINK YOU ARE?	2	FEB	40.0
HSU418	Α	HISTORY IS A WEAPON	2	FEB	10.0
HSU522	Α	WHO DO YOU THINK YOU ARE?	2	FEB	40.0
HSU610	Α	BLACK FREEDOM STRUGGLE	2	FEB	20.0
HSU613	Α	SLAVERY AND ABOLITION IN THE ATLANTIC WORLD	2	FEB	20.0
COMPUTER	SCIENCE				
CMU403	Α	COMPUTER ARCHITECTURE AND NETWORKING FUNDAMENTALS	2	FEB	20.0
CMU405	Α	DATABASE DEVELOPMENT	2	FEB	20.0
CMU406	Α	WEB DEVELOPMENT	2	FEB	20.0
CMU501	Α	WORK RELATED LEARNING	2	FEB	20.0
CMU502	Α	CYBERSECURITY	2	FEB	20.0
CMU505	Α	MACHINE LEARNING	2	FEB	20.0
LAW					
LLU404	Α	PUBLIC LAW	2	FEB	20.0
LLU405	A	PROFESSIONAL PRACTICE PLACEMENT	2	FEB	20.0
LLU406	Α	CRIMINAL LAW	2	FEB	20.0
LLU501	Α	LAW OF THE EUROPEAN UNION	2	FEB	20.0
LLU505	A	PROFESSIONAL PRACTICE PLACEMENT	2	FEB	20.0
LLU506	A	LAND LAW	2	FEB	20.0
MATHEMATI	CS				
MAU402	Α	THE MATHEMATICAL PROFESSIONAL	2	FEB	10.0
MAU405	A	LINEAR ALGEBRA AND APPLICATIONS	2	FEB	20.0
MAU406	Α	PROBABILITY AND STATISTICS	2	FEB	20.0
MAU504	Α	MATHEMATICAL MODELLING AND NUMERICAL METHODS	2	FEB	20.0
MAU505	Α	OPTIMATIZATION	2	FEB	20.0
MAU520	Α	RESEARCH SKILLS FOR MATHEMATICIANS II	2	FEB	10.0

HELISTS A GLOBALISATION, SOCIAL POLICY AND WELFARE 2 FEB 20.0	MAU604	A	DATA SCIENCE	2	FEB	20.0
HEU505 A GLOBALISATION, SOCIAL POLICY AND WELFARE 2 FEB 20.0 HEU605 A LEADERSHIP AND MANAGEMENT IN HEALTH AND SOCIAL CARE 2 FEB 20.0 PSYVENDLOGY PYUH12 A APPLICATIONS OF PSYCHOLOGY PYUH16 A RESEARCH DESIGN AND ANALYSIS PYUH17 A GLOBAL PERSPECTIVES AND CONTEXTS IN PSYCHOLOGY 2 FEB 20.0 PYUH17 A GLOBAL PERSPECTIVES AND CONTEXTS IN PSYCHOLOGY 2 FEB 20.0 PYU515 A COGNITION AND THE BRAIN 2 FEB 20.0 PYU515 A COGNITION AND THE BRAIN 2 FEB 20.0 PYU516 A HUMAN DEVELOPMENT: AN ETHOLOGICAL APPROACH 2 FEB 20.0 PYU517 A HUMAN DEVELOPMENT: AN ETHOLOGICAL APPROACH 2 FEB 20.0 PYU518 A HEALTH, WELLBEING AND PSYCHOLOGICAL INTERVENTIONS 2 FEB 10.0 PYU619 A HEALTH, WELLBEING AND PSYCHOLOGICAL INTERVENTIONS 2 FEB 20.0 PYU610 A CYBERPSYCHOLOGY: THE LEARNING AND DEVELOPMENT OF YOUNG PEOPLE 2 FEB 20.0 PYU620 A CYBERPSYCHOLOGY: THE LEARNING AND DEVELOPMENT OF YOUNG PEOPLE 2 FEB 20.0 PPU630 A SOCIOLOGY OF SPORT AND PHYSICAL ACTIVITY 2 FEB 20.0 PE0604 A OBESITY AND HEALTH 2 FEB 20.0 PE0605 A COACHING PEDAGOGY 2 FEB 20.0 PE0606 A OBESITY AND HEALTH 2 FEB 20.0 PE0610 A APPLIED SPORT SCIENCE 2 FEB 20.0 PE06112 A APPLIED SPORT SCIENCE 2 FEB 20.0 PE0612 A APPLIED SPORT SCIENCE 2 FEB 20.0 PE0612 A APPLIED SPORT SCIENCE 2 FEB 20.0 PE0613 A PEDAGOGY OF PHYSICAL EDUCATION AND COACHING 2 FEB 20.0 PE0614 A PRINCIPLES OF SPORT AND EXERCISE PSYCHOLOGY 2 FEB 20.0 PE0615 A COACHING PEDAGOGY 2 FEB 20.0 PE0616 A PEDAGOGY OF PHYSICAL EDUCATION AND COACHING 2 FEB 20.0 PE0617 A PRINCIPLES OF SPORT AND EXERCISE PSYCHOLOGY 2 FEB 20.0 PE0618 A PEDAGOGY OF PHYSICAL EDUCATION AND COACHING 2 FEB 20.0 PE0619 A INTRODUCTION TO RESEARCH METHODS 2 FEB 20.0 PENDATO A PRINCIPLES OF SPORT AND EXERCISE PSYCHOLOGY 2 FEB 20.0 PENDATO A PRINCIPLES OF SPORT AND EXERCISE PSYCHOLOGY 2 FEB 20.0 PENDATO A PRINCIPLES OF SPORT AND EXERCISE PSYCHOLOGY 2 FEB 20.0 PENDATO A PRINCIPLES OF SPORT AND EXERCISE PSYCHOLOGY 2 FEB 20.0 PENDATO A PRINCIPLES OF SPORT AND EXERCISE PSYCHOLOGY 2 FEB 20.0 PENDATO A PRINCIPLES OF SPORT AND EXERCISE PSYCHOLOGY 2 FE	MAU605	Α	PARTIAL DIFFERENTIAL EQUATIONS	2	FEB	20.0
HEU605 A LEADERSHIP AND MANAGEMENT IN HEALTH AND SOCIAL CARE PSYCHOLOGY PSYCHOLOGY PYU412 A APPLICATIONS OF PSYCHOLOGY 2 FEB 10.0 PYU415 A RESEARCH DESIGN AND ANALYSIS 2 FEB 20.0 PYU416 A RESEARCH DESIGN AND ANALYSIS 2 FEB 20.0 PYU417 A GLOBAL PERSPECTIVES AND CONTEXTS IN PSYCHOLOGY 2 FEB 20.0 PYU418 A GLOBAL PERSPECTIVES AND CONTEXTS IN PSYCHOLOGY 3 FEB 20.0 PYU515 A GLOBAL PERSPECTIVES AND CONTEXTS IN PSYCHOLOGY 4 FEB 20.0 PYU516 A HUMAN DEVELOPMENT: AN ETHOLOGICAL APPROACH 2 FEB 20.0 PYU515 A QUALITATIVE RESEARCH DESIGN AND ANALYSIS 2 FEB 10.0 PYU516 A HUMAN DEVELOPMENT: AN ETHOLOGICAL APPROACH 2 FEB 20.0 PYU618 A HEALTH, WELLBEINS AND PSYCHOLOGICAL INTERVENTIONS 2 FEB 20.0 PYU619 A EDUCATIONAL PSYCHOLOGY: THE LEARNING AND DEVELOPMENT OF YOUNG PEOPLE 2 FEB 20.0 PYU616 A EDUCATIONAL PSYCHOLOGY: THE LEARNING AND DEVELOPMENT OF YOUNG PEOPLE 2 FEB 20.0 PYU617 A CORERPSYCHOLOGY 4 FEB 20.0 PEU603 A SOCIOLOGY OF SPORT AND PHYSICAL ACTIVITY 4 PEU604 A OBESITY AND HEALTH 4 PEU605 A CORENT AND HEALTH 5 FEB 20.0 PEU606 A OBESITY AND HEALTH 5 FEB 20.0 PEU606 A APPLIED SPORT SCIENCE 2 FEB 20.0 PEU610 A APPLIED SPORT SCIENCE 2 FEB 20.0 PEU611 A APPLIED SPORT SCIENCE 2 FEB 20.0 PEU612 A APPLIED SPORT AND EXERCISE PSYCHOLOGY 5 FEB 20.0 SPU406 A HUMAN MOVEMENT 2 FEB 20.0 SPU406 A HUMAN MOVEMENT 2 FEB 20.0 SPU407 A PRINCIPLES OF SPORT AND EXERCISE PSYCHOLOGY 5 FEB 20.0 SPU408 A QUALITATIVE RESEARCH METHODS 5 FEB 20.0 SPU409 A INTRODUCTION TO RESEARCH METHODS 5 FEB 20.0 SPU401 A PRINCIPLES OF SPORT AND EXERCISE PSYCHOLOGY 5 FEB 20.0 SPU401 A PRINCIPLES OF SPORT AND EXERCISE PSYCHOLOGY 5 FEB 20.0 SPU401 A PLANNING AND ASSESSING IN PHYSICAL EDUCATION 5 FEB 20.0 SPU405 A PLANNING AND ASSESSING IN PHYSICAL EDUCATION 5 FEB 20.0 SPU406 A PLANNING AND ASSESSING IN PHYSICAL EDUCATION 5 FEB 20.0 SPU406 A PLANNING AND ASSESSING IN PHYSICAL EDUCATION 5 FEB 20.0 SPU406 A PLANNING AND ASSESSING IN PHYSICAL EDUCATION 5 FEB 20.0 SPU406 A PLANNING AND ASSESSING IN PHYSICAL EDUCATION 5 FEB 20.0 SPU406 A	HEALTH & S	OCIAL CARE				
PSYCHOLOGY PYU412 A APPLICATIONS OF PSYCHOLOGY 2 FEB 10.0 PYU416 A RESEARCH DESIGN AND ANALYSIS 2 FEB 20.0 PYU417 A GLOBAL PERSPECTIVES AND CONTEXTS IN PSYCHOLOGY 2 FEB 20.0 PYU515 A COGNITION AND THE BRAIN 2 FEB 20.0 PYU516 A HUMAN DEVELOPMENT: AN ETHOLOGICAL APPROACH 2 FEB 20.0 PYU516 A HUMAN DEVELOPMENT: AN ETHOLOGICAL APPROACH 2 FEB 20.0 PYU517 A QUALITATIVE RESEARCH DESIGN AND ANALYSIS 2 FEB 20.0 PYU613 A HEALTH, WELLBEING AND PSYCHOLOGICAL INTERVENTIONS 2 FEB 20.0 PYU616 A EDUCATIONAL PSYCHOLOGY: THE LEARNING AND DEVELOPMENT OF YOUNG PEOPLE 2 FEB 20.0 PYU620 A CYERRESYCHOLOGY 2 FEB 20.0 PYU621 A CYERRESYCHOLOGY 2 FEB 20.0 PEU620 </td <td>HEU505</td> <td>Α</td> <td>GLOBALISATION, SOCIAL POLICY AND WELFARE</td> <td>2</td> <td>FEB</td> <td>20.0</td>	HEU505	Α	GLOBALISATION, SOCIAL POLICY AND WELFARE	2	FEB	20.0
PYU412 A APPLICATIONS OF PSYCHOLOGY 2 FEB 10.0 PYU416 A RESEARCH DESIGN AND ANALYSIS 2 FEB 20.0 PYU417 A GLOBAL PERSPECTIVES AND CONTEXTS IN PSYCHOLOGY 2 FEB 20.0 PYU515 A GCONITION AND THE BRAIN 2 FEB 20.0 PYU516 A HUMAN DEVELOPMENT: AN ETHOLOGICAL APPROACH 2 FEB 20.0 PYU520 A QUALITATIVE RESEARCH DESIGN AND ANALYSIS 2 FEB 20.0 PYU521 A HEALTH, WELLBEING AND PSYCHOLOGICAL INTERVENTIONS 2 FEB 20.0 PYU616 A EDUCATIONAL PSYCHOLOGY: THE LEARNING AND DEVELOPMENT OF YOUNG PEOPLE 2 FEB 20.0 PYU620 A CYBERPSYCHOLOGY TEB 20.0 PEUG10 A SOCIOLOGY OF SPORT AND PHYSICAL ACTIVITY 2 FEB 20.0 PEUG10 A OBESITY AND HEALTH 2 FEB 20.0 PEUG10 A OBESITY AND HEALTH 2 FEB 20.0 P	HEU605	Α	LEADERSHIP AND MANAGEMENT IN HEALTH AND SOCIAL CARE	2	FEB	20.0
PYU416 A RESEARCH DESIGN AND ANALYSIS 2 FEB 20.0 PYU417 A GLOBAL PERSPECTIVES AND CONTEXTS IN PSYCHOLOGY 2 FEB 20.0 PYU515 A COGNITION AND THE BRAIN 2 FEB 20.0 PYU516 A HUMAN DEVELOPMENT: AN ETHOLOGICAL APPROACH 2 FEB 20.0 PYU513 A HUMAN DEVELOPMENT: AN ETHOLOGICAL APPROACH 2 FEB 20.0 PYU613 A HEALTH, WELLBEING AND PSYCHOLOGY: THE LEARNING AND DEVELOPMENT OF YOUNG PEOPLE 2 FEB 20.0 PYU616 A EDUCATIONAL PSYCHOLOGY: THE LEARNING AND DEVELOPMENT OF YOUNG PEOPLE 2 FEB 20.0 PYU620 A CYBERPSYCHOLOGY: THE LEARNING AND DEVELOPMENT OF YOUNG PEOPLE 2 FEB 20.0 PYU630 A CYGERTOSALORY SYCHOLOGY: THE LEARNING AND DEVELOPMENT OF YOUNG PEOPLE 2 FEB 20.0 PYU610 A CYBERPSYCHOLOGY: THE LEARNING AND DEVELOPMENT OF YOUNG PEOPLE 2 FEB 20.0 PYU620 A CYBERPSYCHOLOGY: THE LEARNING AND DEVELOPM	PSYCHOLOG	GY				
PYU417 A GLOBAL PERSPECTIVES AND CONTEXTS IN PSYCHOLOGY 2 FEB 20.0 PYU515 A COGNITION AND THE BRAIN 2 FEB 20.0 PYU516 A HUMAN DEVELOPMENT: AN ETHOLOGICAL APPROACH 2 FEB 20.0 PYU510 A QUALITATIVE RESEARCH DESIGN AND ANALYSIS 2 FEB 10.0 PYU613 A HEALTH, WELLBEING AND PSYCHOLOGY: THE LEARNING AND DEVELOPMENT OF YOUNG PEOPLE 2 FEB 20.0 PYU616 A EDUCATIONAL PSYCHOLOGY: THE LEARNING AND DEVELOPMENT OF YOUNG PEOPLE 2 FEB 20.0 PYU616 A EDUCATIONAL PSYCHOLOGY: THE LEARNING AND DEVELOPMENT OF YOUNG PEOPLE 2 FEB 20.0 PYU620 A CYBERPSYCHOLOGY: 2 FEB 20.0 PYU620 A CYBERPSYCHOLOGY: 2 FEB 20.0 PEU603 A SOCIOLOGY OF SPORT AND PHYSICAL ACTIVITY 2 FEB 20.0 PEU604 A OBESITY AND HEALTH 2 FEB 20.0 PEU605	PYU412	Α	APPLICATIONS OF PSYCHOLOGY	2	FEB	10.0
PYU515 A COGNITION AND THE BRAIN 2 FEB 20.0 PYU516 A HUMAN DEVELOPMENT: AN ETHOLOGICAL APPROACH 2 FEB 20.0 PYU520 A QUALITATIVE RESEARCH DESIGN AND ANALYSIS 2 FEB 20.0 PYU513 A HEALTH, WELLBEING AND PSYCHOLOGY: THE LEARNING AND DEVELOPMENT OF YOUNG PEOPLE 2 FEB 20.0 PYU616 A EDUCATIONAL PSYCHOLOGY: THE LEARNING AND DEVELOPMENT OF YOUNG PEOPLE 2 FEB 20.0 PYU620 A CUBERPSYCHOLOGY THE LEARNING AND DEVELOPMENT OF YOUNG PEOPLE 2 FEB 20.0 PYU620 A CUBERPSYCHOLOGY 2 FEB 20.0 PYU616 A EDUCATIONAL PSYCHOLOGY: THE LEARNING AND DEVELOPMENT OF YOUNG PEOPLE 2 FEB 20.0 PYU616 A EDUCATIONAL PSYCHOLOGY: THE LEARNING AND DEVELOPMENT OF YOUNG PEOPLE 2 FEB 20.0 PEU603 A SOCIOLOGY OF PSORT AND PHYSICAL ACTIVITY 2 FEB 20.0 PEU603 A COACHING PEDAGOGY 2 2 <td>PYU416</td> <td>Α</td> <td>RESEARCH DESIGN AND ANALYSIS</td> <td>2</td> <td>FEB</td> <td>20.0</td>	PYU416	Α	RESEARCH DESIGN AND ANALYSIS	2	FEB	20.0
PYU516	PYU417	Α	GLOBAL PERSPECTIVES AND CONTEXTS IN PSYCHOLOGY	2	FEB	20.0
PYU520	PYU515	Α	COGNITION AND THE BRAIN	2	FEB	20.0
PYU613	PYU516	Α	HUMAN DEVELOPMENT: AN ETHOLOGICAL APPROACH	2	FEB	20.0
PYU616	PYU520	Α	QUALITATIVE RESEARCH DESIGN AND ANALYSIS	2	FEB	10.0
PYU620	PYU613	Α	HEALTH, WELLBEING AND PSYCHOLOGICAL INTERVENTIONS	2	FEB	20.0
SPORTS EXERCISE & SCIENCE PEU603 A SOCIOLOGY OF SPORT AND PHYSICAL ACTIVITY 2 FEB 20.0 PEU603 A SOCIOLOGY OF SPORT AND PHYSICAL ACTIVITY 2 FEB 20.0 PEU604 A OBESITY AND HEALTH 2 FEB 20.0 PEU605 A COACHING PEDAGOY 2 2 FEB 20.0 PEU610 A APPLIED SPORT SCIENCE 2 2 FEB 20.0 PEU612 A APPLIED SPORT AND EXERCISE PSYCHOLOGY 2 FEB 20.0 SPU405 A PEDAGOGY OF PHYSICAL EDUCATION AND COACHING 2 FEB 20.0 SPU406 A HUMAN MOVEMENT 2 2 FEB 20.0 SPU406 A HUMAN MOVEMENT 2 2 FEB 20.0 SPU409 A INTRODUCTION TO RESEARCH METHODS 2 FEB 10.0 SPU511 A QUALITATIVE RESEARCH METHODS 2 FEB 20.0 SPU511 A QUALITATIVE RESEARCH METHODS 2 <td< td=""><td>PYU616</td><td>Α</td><td>EDUCATIONAL PSYCHOLOGY: THE LEARNING AND DEVELOPMENT OF YOUNG PEOPLE</td><td>2</td><td>FEB</td><td>20.0</td></td<>	PYU616	Α	EDUCATIONAL PSYCHOLOGY: THE LEARNING AND DEVELOPMENT OF YOUNG PEOPLE	2	FEB	20.0
PEU603 A SOCIOLOGY OF SPORT AND PHYSICAL ACTIVITY 2 FEB 20.0 PEU604 A OBESITY AND HEALTH 2 FEB 20.0 PEU605 A COACHING PEDAGOGY 2 2 FEB 20.0 PEU610 A APPLIED SPORT SCIENCE 2 2 FEB 20.0 PEU612 A APPLIED SPORT AND EXERCISE PSYCHOLOGY 2 FEB 20.0 SPU405 A APEDAGOGY OF PHYSICAL EDUCATION AND COACHING 2 FEB 20.0 SPU406 A HUMAN MOVEMENT 2 2 FEB 20.0 SPU406 A HUMAN MOVEMENT 2 2 FEB 20.0 SPU407 A INTRODUCTION TO RESEARCH METHODS 2 FEB 20.0 SPU507 A PRINCIPLES OF SPORT AND EXERCISE PSYCHOLOGY 2 FEB 20.0 SPU511 A QUALITATIVE RESEARCH METHODS 2 FEB 20.0 SPU512 A INTRODUCTION TO STRENGTH & CONDITIONING 2 FEB 20.0<	PYU620	Α	CYBERPSYCHOLOGY	2	FEB	20.0
PEU604	SPORTS EXI	ERCISE & SCI	ENCE			
PEU605	PEU603	Α	SOCIOLOGY OF SPORT AND PHYSICAL ACTIVITY	2	FEB	20.0
PEU610	PEU604	Α	OBESITY AND HEALTH	2	FEB	20.0
PEU612 A APPLIED SPORT AND EXERCISE PSYCHOLOGY 2 FEB 20.0 SPU405 A PEDAGOGY OF PHYSICAL EDUCATION AND COACHING 2 FEB 20.0 SPU406 A HUMAN MOVEMENT 2 2 FEB 20.0 SPU409 A INTRODUCTION TO RESEARCH METHODS 2 FEB 10.0 SPU507 A PRINCIPLES OF SPORT AND EXERCISE PSYCHOLOGY 2 FEB 20.0 SPU511 A QUALITATIVE RESEARCH METHODS 2 FEB 10.0 SPU512 A INTRODUCTION TO STRENGTH & CONDITIONING 2 FEB 20.0 SPU513 A SPORT, DEVELOPMENT AND POLICY 2 FEB 20.0 SPU521 A PLANNING AND ASSESSING IN PHYSICAL EDUCATION 2 FEB 20.0 STUDIES IN PRIMARY EDUCATION 2 FEB 20.0 PSU404 A CURRICULUM APPROACHES AND REFLECTING ON SKILLS FOR EFFECTIVE STUDY AND GRADUATE LEVEL 2 FEB 20.0 PSU405 A INCLUSION AND SEND AND MENTAL HEALTH<	PEU605	Α	COACHING PEDAGOGY 2	2	FEB	20.0
SPU405 A PEDAGOGY OF PHYSICAL EDUCATION AND COACHING 2 FEB 20.0 SPU406 A HUMAN MOVEMENT 2 2 FEB 20.0 SPU409 A INTRODUCTION TO RESEARCH METHODS 2 FEB 10.0 SPU507 A PRINCIPLES OF SPORT AND EXERCISE PSYCHOLOGY 2 FEB 20.0 SPU511 A QUALITATIVE RESEARCH METHODS 2 FEB 10.0 SPU512 A INTRODUCTION TO STRENGTH & CONDITIONING 2 FEB 20.0 SPU513 A SPORT, DEVELOPMENT AND POLICY 2 FEB 20.0 SPU521 A PLANNING AND ASSESSING IN PHYSICAL EDUCATION 2 FEB 20.0 STUDIES IN PRIMARY EDUCATION 2 FEB 20.0 PSU404 A CURRICULUM APPROACHES AND REFLECTING ON SKILLS FOR EFFECTIVE STUDY AND GRADUATE LEVEL 2 FEB 20.0 PSU405 A INCLUSION AND SEND AND MENTAL HEALTH 2 FEB 20.0 PSU406 A CHILDHOOD, SOCIETY AND KEEPING CHILDRE	PEU610	Α	APPLIED SPORT SCIENCE 2	2	FEB	20.0
SPU406 A HUMAN MOVEMENT 2 2 FEB 20.0 SPU409 A INTRODUCTION TO RESEARCH METHODS 2 FEB 10.0 SPU507 A PRINCIPLES OF SPORT AND EXERCISE PSYCHOLOGY 2 FEB 20.0 SPU511 A QUALITATIVE RESEARCH METHODS 2 FEB 10.0 SPU512 A INTRODUCTION TO STRENGTH & CONDITIONING 2 FEB 20.0 SPU513 A SPORT, DEVELOPMENT AND POLICY 2 FEB 20.0 SPU521 A PLANNING AND ASSESSING IN PHYSICAL EDUCATION 2 FEB 20.0 STUDIES IN PRIMARY EDUCATION 2 FEB 20.0 PSU404 A CURRICULUM APPROACHES AND REFLECTING ON SKILLS FOR EFFECTIVE STUDY AND GRADUATE LEVEL 2 FEB 20.0 PSU405 A INCLUSION AND SEND AND MENTAL HEALTH 2 FEB 20.0 PSU406 A CHILDHOOD, SOCIETY AND KEEPING CHILDREN SAFE 2 FEB 20.0 PRU401 A KEY CONCEPTS IN PRIMARY EDUCATION <td>PEU612</td> <td>Α</td> <td>APPLIED SPORT AND EXERCISE PSYCHOLOGY</td> <td>2</td> <td>FEB</td> <td>20.0</td>	PEU612	Α	APPLIED SPORT AND EXERCISE PSYCHOLOGY	2	FEB	20.0
SPU409 A INTRODUCTION TO RESEARCH METHODS SPU507 A PRINCIPLES OF SPORT AND EXERCISE PSYCHOLOGY SPU511 A QUALITATIVE RESEARCH METHODS SPU512 A INTRODUCTION TO STRENGTH & CONDITIONING SPU513 A SPORT, DEVELOPMENT AND POLICY SPU513 A SPORT, DEVELOPMENT AND POLICY SPU514 A PLANNING AND ASSESSING IN PHYSICAL EDUCATION STUDIES IN PRIMARY EDUCATION PSU404 A CURRICULUM APPROACHES AND REFLECTING ON SKILLS FOR EFFECTIVE STUDY AND GRADUATE LEVEL PSU405 A INCLUSION AND SEND AND MENTAL HEALTH SPU406 A CHILDHOOD, SOCIETY AND KEEPING CHILDREN SAFE PRU401 A KEY CONCEPTS IN PRIMARY EDUCATION PRU402 A BECOMING AN INDEPENDENT LEARNER 2 FEB 40.0 PRU402 A BECOMING AN INDEPENDENT LEARNER	SPU405	Α	PEDAGOGY OF PHYSICAL EDUCATION AND COACHING	2	FEB	20.0
SPU507 A PRINCIPLES OF SPORT AND EXERCISE PSYCHOLOGY SPU511 A QUALITATIVE RESEARCH METHODS SPU512 A INTRODUCTION TO STRENGTH & CONDITIONING SPU513 A SPORT, DEVELOPMENT AND POLICY SPU514 A PLANNING AND ASSESSING IN PHYSICAL EDUCATION SPU515 A PLANNING AND ASSESSING IN PHYSICAL EDUCATION STUDIES IN PRIMARY EDUCATION PSU404 A CURRICULUM APPROACHES AND REFLECTING ON SKILLS FOR EFFECTIVE STUDY AND GRADUATE LEVEL PSU405 A INCLUSION AND SEND AND MENTAL HEALTH PSU406 A CHILDHOOD, SOCIETY AND KEEPING CHILDREN SAFE PRU401 A KEY CONCEPTS IN PRIMARY EDUCATION PRU402 A BECOMING AN INDEPENDENT LEARNER 2 FEB 40.0 PRU402 A BECOMING AN INDEPENDENT LEARNER	SPU406	Α	HUMAN MOVEMENT 2	2	FEB	20.0
SPU511 A QUALITATIVE RESEARCH METHODS SPU512 A INTRODUCTION TO STRENGTH & CONDITIONING SPU513 A SPORT, DEVELOPMENT AND POLICY SPU521 A PLANNING AND ASSESSING IN PHYSICAL EDUCATION SPU521 A PLANNING AND ASSESSING IN PHYSICAL EDUCATION STUDIES IN PRIMARY EDUCATION PSU404 A CURRICULUM APPROACHES AND REFLECTING ON SKILLS FOR EFFECTIVE STUDY AND GRADUATE LEVEL 2 FEB 20.0 PSU405 A INCLUSION AND SEND AND MENTAL HEALTH 2 FEB 20.0 PSU406 A CHILDHOOD, SOCIETY AND KEEPING CHILDREN SAFE 2 FEB 20.0 PRU401 A KEY CONCEPTS IN PRIMARY EDUCATION 2 FEB 40.0 PRU402 A BECOMING AN INDEPENDENT LEARNER 2 FEB 10.0	SPU409	Α	INTRODUCTION TO RESEARCH METHODS	2	FEB	10.0
SPU512 A INTRODUCTION TO STRENGTH & CONDITIONING 2 FEB 20.0 SPU513 A SPORT, DEVELOPMENT AND POLICY 2 FEB 20.0 SPU521 A PLANNING AND ASSESSING IN PHYSICAL EDUCATION 2 FEB 20.0 STUDIES IN PRIMARY EDUCATION PSU404 A CURRICULUM APPROACHES AND REFLECTING ON SKILLS FOR EFFECTIVE STUDY AND GRADUATE LEVEL 2 FEB 20.0 PSU405 A INCLUSION AND SEND AND MENTAL HEALTH 2 FEB 20.0 PSU406 A CHILDHOOD, SOCIETY AND KEEPING CHILDREN SAFE 2 FEB 20.0 PRU401 A KEY CONCEPTS IN PRIMARY EDUCATION 2 FEB 40.0 PRU402 A BECOMING AN INDEPENDENT LEARNER 2 FEB 10.0	SPU507	Α	PRINCIPLES OF SPORT AND EXERCISE PSYCHOLOGY	2	FEB	20.0
SPU513 A SPORT, DEVELOPMENT AND POLICY SPU521 A PLANNING AND ASSESSING IN PHYSICAL EDUCATION STUDIES IN PRIMARY EDUCATION PSU404 A CURRICULUM APPROACHES AND REFLECTING ON SKILLS FOR EFFECTIVE STUDY AND GRADUATE LEVEL 2 FEB 20.0 PSU405 A INCLUSION AND SEND AND MENTAL HEALTH 2 FEB 20.0 PSU406 A CHILDHOOD, SOCIETY AND KEEPING CHILDREN SAFE 2 FEB 20.0 PRU401 A KEY CONCEPTS IN PRIMARY EDUCATION 2 FEB 40.0 PRU402 A BECOMING AN INDEPENDENT LEARNER 2 FEB 10.0	SPU511	Α	QUALITATIVE RESEARCH METHODS	2	FEB	10.0
SPU521 A PLANNING AND ASSESSING IN PHYSICAL EDUCATION 2 FEB 20.0 STUDIES IN PRIMARY EDUCATION PSU404 A CURRICULUM APPROACHES AND REFLECTING ON SKILLS FOR EFFECTIVE STUDY AND GRADUATE LEVEL 2 FEB 20.0 PSU405 A INCLUSION AND SEND AND MENTAL HEALTH 2 FEB 20.0 PSU406 A CHILDHOOD, SOCIETY AND KEEPING CHILDREN SAFE 2 FEB 20.0 PRU401 A KEY CONCEPTS IN PRIMARY EDUCATION 2 FEB 40.0 PRU402 A BECOMING AN INDEPENDENT LEARNER 2 FEB 10.0	SPU512	Α	INTRODUCTION TO STRENGTH & CONDITIONING	2	FEB	20.0
PSU404 A CURRICULUM APPROACHES AND REFLECTING ON SKILLS FOR EFFECTIVE STUDY AND GRADUATE LEVEL 2 FEB 20.0 PSU405 A INCLUSION AND SEND AND MENTAL HEALTH 2 FEB 20.0 PSU406 A CHILDHOOD, SOCIETY AND KEEPING CHILDREN SAFE 2 FEB 20.0 PRU401 A KEY CONCEPTS IN PRIMARY EDUCATION 2 FEB 40.0 PRU402 A BECOMING AN INDEPENDENT LEARNER 2 FEB 10.0	SPU513	Α	SPORT, DEVELOPMENT AND POLICY	2	FEB	20.0
PSU404 A CURRICULUM APPROACHES AND REFLECTING ON SKILLS FOR EFFECTIVE STUDY AND GRADUATE LEVEL 2 FEB 20.0 PSU405 A INCLUSION AND SEND AND MENTAL HEALTH 2 FEB 20.0 PSU406 A CHILDHOOD, SOCIETY AND KEEPING CHILDREN SAFE 2 FEB 20.0 PRU401 A KEY CONCEPTS IN PRIMARY EDUCATION 2 FEB 40.0 PRU402 A BECOMING AN INDEPENDENT LEARNER 2 FEB 10.0	SPU521	Α	PLANNING AND ASSESSING IN PHYSICAL EDUCATION	2	FEB	20.0
PSU405 A INCLUSION AND SEND AND MENTAL HEALTH 2 FEB 20.0 PSU406 A CHILDHOOD, SOCIETY AND KEEPING CHILDREN SAFE 2 FEB 20.0 PRU401 A KEY CONCEPTS IN PRIMARY EDUCATION 2 FEB 40.0 PRU402 A BECOMING AN INDEPENDENT LEARNER 2 FEB 10.0	STUDIES IN	PRIMARY ED	DUCATION			
PSU406 A CHILDHOOD, SOCIETY AND KEEPING CHILDREN SAFE 2 FEB 20.0 PRU401 A KEY CONCEPTS IN PRIMARY EDUCATION 2 FEB 40.0 PRU402 A BECOMING AN INDEPENDENT LEARNER 2 FEB 10.0	PSU404	A	CURRICULUM APPROACHES AND REFLECTING ON SKILLS FOR EFFECTIVE STUDY AND GRADUATE LEVEL	2	FEB	20.0
PRU401 A KEY CONCEPTS IN PRIMARY EDUCATION 2 FEB 40.0 PRU402 A BECOMING AN INDEPENDENT LEARNER 2 FEB 10.0	PSU405	A	INCLUSION AND SEND AND MENTAL HEALTH	2	FEB	20.0
PRU402 A BECOMING AN INDEPENDENT LEARNER 2 FEB 10.0	PSU406	Α	CHILDHOOD, SOCIETY AND KEEPING CHILDREN SAFE	2	FEB	20.0
	PRU401	Α	KEY CONCEPTS IN PRIMARY EDUCATION	2	FEB	40.0
PRU403 A PREPARATION FOR PLACEMENT IN EDUCATION 2 FEB 10.0	PRU402	Α	BECOMING AN INDEPENDENT LEARNER	2	FEB	10.0
	PRU403	Α	PREPARATION FOR PLACEMENT IN EDUCATION	2	FEB	10.0

PRU506	В	ASSESSING AND EVALUATING TEACHING AND LEARNING	2	FEB	20.0
PRU507	В	CONTEMPORARY ISSUES IN THE EARLY YEARS	2	FEB	20.0
PRU520	Α	CRITICAL ENQUIRIES: EDUCATIONAL RESEARCH METHODOLOGY	2	FEB	10.0
PRU605	В	EDUCATIONAL POSSIBILITIES: ALTERNATIVE APPROACHES TO PRIMARY EDUCATION	2	FEB	20.0
PRU606	В	EDUCATION, TECHNOLOGY AND CHANGE	2	FEB	20.0
PRU607	В	ART AND DESIGN IN PRIMARY EDUCATION	2	FEB	20.0
THEOLOGY					
THU410	Α	PEOPLE, PLACES, PERFORMANCE: RESEARCHING RELIGION	2	FEB	10.0
THU411	Α	THE FOUNDATIONS OF CHRISTIAN THEOLOGY	2	FEB	20.0
THU415	Α	KNOWLEDGE, THOUGHT AND REALITY: PHILOSOPHY IN THE MAKING	2	FEB	20.0
THU506	Α	TEXT, CULTURE AND INTERPRETATION	2	FEB	20.0
THU517	Α	SPIRITUAL DEVELOPMENT IN SCHOOL AND BEYOND	2	FEB	20.0
THU518	Α	TWENTIETH CENTURY THEOLOGY AND PHILSOPHY	2	FEB	20.0
THU526	Α	DEVELOPING RESEARCH IN THEOLOGY AND PHILOSOPHY	2	FEB	10.0
THU604	Α	VIRTUES AND VALUES	2	FEB	20.0
THU606	Α	TEXT, CULTURE AND INTERPRETATION	2	FEB	20.0
THU608	Α	A HOLISTIC APPROACH IN EDUCATION: SMSC	2	FEB	20.0
WORKING W	ITH CHILD	REN YOUNG PEOPLE AND FAMILIES			
WWU405	A	AN INTRODUCTION TO SOCIAL POLICY	2	FEB	20.0
WWU411	A	SOCIOLOGY OF CHILDHOOD AND FAMILIES	2	FEB	10.0
WWU422	A	CHANGING FAMILIES	2	FEB	10.0
WWU423	Α	ADVANTAGED THINKING: A DIFFERENT WAY OF THINKING ABOUT YOUR PLACE IN THE CHILDREN, YOU	2	FEB	10.0
WWU426	A	AN INTRODUCTION TO SOCIAL POLICY	2	FEB	20.0
WWU426	В	AN INTRODUCTION TO SOCIAL POLICY	2	FEB	20.0
WWU427	A	THE INFORMED PRACTITIONER	2	FEB	20.0
WWU505	A	WORKING THERAPEUTICALLY WITH CHILDREN, YOUNG PEOPLE AND FAMILIES	2	FEB	20.0
WWU508	A	UNDERSTANDING DISABILITY	2	FEB	20.0
WWU604	A	WORKING WITH FAMILIES FACING VIOLENCE AND HARM	2	FEB	20.0
WWU606	A	LOOKED AFTER CHILDREN	2	FEB	20.0
WWU609	A	OVERCOMING INEQUALITIES IN SOCIETY	2	FEB	20.0
YOUTH & CO	MMUNITY V	NORK			
YCU403	A	PLANNING FOR APPLIED REFLECTIVE PRACTICE	2	FEB	20.0
YCU404	Α	UNDERSTANDING GROUPS AND SELF	2	FEB	20.0
YCU501	A	RESEARCHING SOCIAL ISSUES	2	FEB	20.0
YWU609	Α	YOUNG PEOPLE AND CRIME	2	FEB	20.0

Negotiated Modules

Module	Occur	Module Name	Semester	Start	Credits
NGN520	В	SUBJECT SPECIFIC 20 CREDIT (NEGOTIATED MODULE)	2	FEB	20.0